KANGOUROU MATHEMATICS COMPETITION 2024-2025 LEVEL 3-4
AIATONIZMOZ KANGOUROU MAGHMATIKA 2024-2025 EMIMNEAO 3-4

1. Mia is joining small cubes, adding one at a time, to build a 3 x 3 x 3 cube. She took pictures at 5 different
moments. What does Mia’s fourth picture look like?
H Mia ouvdéel pikpoUg kuBoug, mpocBétovtag évav Kabe dpopad, yia va dtiaget évav kUBo 3 x 3 x 3. EByaie
dwtoypadieg oe 5 SladopeTikeg oTLYUES. NWE poldleL n Tetaptn pwrtoypadia tng Miag;

(A) % (B) @%j (C) @ (D) D% (E) “‘E% 1%1

2. Helen writes the four digits 2, 0, 2, 5 in the four boxes. Which order would give
her the largest result? D + |:| — |:| + |:|
H EAévn ypddel ta técoepa Yndia 2, 0, 2, 5 ota T€ooepa kouTLd. MNota oelpd Ba
NG SWOEL TO HEYOAUTEPO ATOTEAECUQ;
(A) 0,2,2,5 (B8)0,5,2,2 (C)2,5,2,0 (D)5,0,2,2 (E)5,2,0,2

3. Which rope ties into a knot when the ends are pulled?
Molo oyowi 8ével koo 6tav TpaBnxTtolV oL AKPEC TOU;

(B)@ (C)

4. Clara spins her sail. Which of the sails below is hers?
H KAdpa meplotpedel to mavi tnge.
MoLo o Ta MAPAKATW TAVLA E(VOL TO SIKO TNG;

(A) (B) (C) (D) (E)

5. On a normal dice, the total number of spots on two opposite faces is always 7. Which one of the dice shown
could be a normal dice?
Ze éva KaVoVIKO {ApL, 0 CUVOALKOG apLlBOC TwV KOUKKISWV oTLG dU0 amévavtl MAeupEG eival mavta 7. Molo ano
ta {apLla ou daivovtal Ba pnmopouoe va eival Kavoviko apy;

(A)

6. Alex stepped on some tracks on the ground. What is beneath his shoe?

O AAe€ matnoe mavw o kamota ixvn oto €5adoc. Tt BPloKETAL KATW ATO TO MAMoUTOL TOU; /()Z |
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7. Simon the Kangaroo jumps from the School to the Zoo as follows: 12, N 2, ¥ 1, & 4, as shown in the
picture.
Then, he jumps from the Zoo as follows: - 3, 2 2, 2.
Which house will he get to?
O Zipov to kaykoupo mndasL amo to IxoAeio otov Zwohoywko Knmo wee€ne: T 2, N 2, K 1, ¢ 4, onwg dpaivetal
otnV £lkOva.
3TN ouvéyela, mndAeL amo tov Zwohoyiko Knmo we eéng: > 3, A1 2, I 2.
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8. Which pinwheel can George build with these 3 rods?
Molov aveplotipa propel va ¢tidéel o MNwpyog He autd Ta 3 Kovtaplo;
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9. Nico and his little sister pay with shells and marbles in their playshop. Each shell has a value of 6 and each
marble has a value of 1. Which of the following has a total value of 16?
O Nikog Kat n pwkpn tou adepdr MANPWVOULV e KOXUALO KoL UITIALEG OTO KATAOTNA Touc. KABe KoYUAL £xeL
afla 6 kal kaBe umiAia €xeL afla 1. Moo amo Ta MapaKATW £XeL CUVOALKA afia 16;

@0 @@

10. Anna, Maria and Helen have some kangaroo cookies on their plates, as shown. They then share the
remaining 15 cookies on the tray so that everyone now has the same number of cookies in their plates. How
many more cookies does Anna get?

H Avva, n Mapia kot n EAévn €xouv KATOLO UIMLOKOTO KOYKOUPO OTa TLATO TOUC, OnMwe daivetal. 2tn
OUVEXELQ, polpalovtal ta umoAouta 15 pmiokota and 1o ioko £€tal wote 6AoL va £xouv Tov 8o aplBuod
MTLOKOTWY 0T TLATA TouC. Mdoa mepLocOTEPA UIMLOKOTA TIAPVEL N Avva;

HOD OF

S LR

(A)

Anna Maria Helen
Avva Mapia EAévn
(A) 4 (B)S (C)6 (D)7 (E)8

11. In the morning, 5 friends had identical fully-charged mobile phones. By the evening, Chris had spoken on the
phone as much as Anna and Christina together. Chris ran out of power. Dimitris had not used his phone at all.
Which phone belonged to Nikos?

To mpwi, 5 dihot ixav mavopoldtuna Kvntd ThAédwva MANPwWS poptiopéva. MExpL To amodyeupa, o Xpriotog
elxe pANoeL oto TnAédwvo 600 n Avva kat n Xplotiva pali. O XpRotog Euelve xwpig pratapioa. O Anuntpng dev
elxe xpnowomnotioet kaboAou to TnAédwvo Tou. Moo tnAéPwvo avrike otov Niko;

IiIEIEIIiIEI

2 3 4 5

(A) 1 (B) 2 ()3 (D)4 (E)5

12. Which two of the pieces shown below complete the chessboard?
Mota §U0 amd Ta KopATLa TTou daivovtal TapakaTw CUUTANPWYOUV TV OKOKLEPQ;

e R

(A)1and2/1 ko2 (B)l1and5/1«kat5 (C)3and4/3«kaL4d
(D)3and5/3kaL5 (E)4and5/4 koL 5
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13. In the petting zoo, Rena feeds 6 sheep. She gives them a total of 210 grams of dry food for lunch. She
gives the smallest sheep twice as much food as she gives to each of the others. How much does the
smallest sheep get?

210 {woloyLko KNTo, N Péva tailel 6 mpoBarta. Toug divel cuvoAka 210 ypappdpla Enpag Tpodng yla
peonpepLlavo. Alvel oTo UIKpOTEPO TIPORATOo SUTAACLA TOCOTNTA TPOdNE Ao aUTH Tou Sivel og KAOe
€va amo ta aAla mpoBata. Noca ypappdpla tpodng maipvel To UIKPOTEPO TTPORATO;

- - -

(A) 55 grams / 55 ypaupapla (B) 60 grams / 60 ypaupapla
(C) 70 grams / 70 ypappapLa (D) 75 grams / 75 ypappdpa.  (E) 80 grams / 80 ypappdpia
14. Petros wishes to slice a pizza into 2 halves. He also wishes to have the same number of 2

tomatoes on each half. It is possible for him to do this with two different cuts. Along
which lines could he cut the pizza?

O Métpog emiBupel va KOYPeL pla Titoa os 2 (oa pépn. O€AsL emiong va £xeL Tov (6lo
oplOuo vropatwy o KABe pLod. Eival Suvatov va to KAvel auto pe dUo SladopeTika
ko ipara. Katd pnkog molwv ypaUUwy UMopel va KOYEL Tnv mitoq;

(A)1and3/1«ko3 (Byl1and4/1kaiL4 (C)2and3/2«kaL3
(D)2and 4 /2 ka4 (E)3and 4 /3 ka4

15. Maria fills the circles with the numbers 1, 2, 3, 4, 5, 6 and 7. The number in each of the lower circles is equal to

the sum of the two numbers in the connected circles above it. What number is in the circle marked with %?
H Mapia yepilel toug kUKAOUG pe Toug aplBuoug 1, 2, 3, 4, 5, 6 katl 7. O aplBuodg os KABe €vav amo Toug KATw
KUKAOUG elval {ooc pe To aBpolopa Twv U0 aplBuwV oToug cuvdeSepévoucg KUKAOUG oo Avw Tou. Molog

apLOPOC Bploketal oTov KUKAO TIOU ivat onpacpévoc pe X;

(A) 2 (B)3 (C) 4 (D)5 (E)7

16. Andrew makes a square from 4 rectangular pieces. 3 of the pieces he
uses are shown. Which of the following is the fourth piece he uses?
O Avtpéag Ppriayvel éva TeTpdywvo amno 4 opBoywvia Koppatia. Ta 3

Ao ta KO UATLa TTou Xpnouomnolei paivovtal. Moo amd Ta mapoKETw [T T[]
€lvoll TO TETOPTO KOWUATL TTIOU XPNOLUOTIOLEL;

(A) @) LT (©)
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17.

18.

19.

6 ladybirds have 1, 2, 3, 4, 5 or 6 spots each. Lucy took 4 photos of them in groups
of 3. Each ladybird appeared the same number of times in the photos. 3 of the
photos, along with the outline of the fourth photo, are shown here. How many
spots do the three ladybirds in Lucy’s fourth photo have in total?

6 mamapouveg £xouv amo 1, 2, 3, 4, 5 ] 6 Koukkideg n kaBepia. H Aovon tpapnée
4 dwtoypadieg and auteg oe opddeg twv 3. Kabe mamnapouva sudaviotnke tov
i6lo apBuo dopég ot pwrtoypadies. 3 and TG Pwrtoypadiec, poll pe to
Teplypappo TG TETaPTNE dwrtoypadiag, daivovral otnv elkova. NMoOoeg KOUKKISES
£€XOUV OUVOALKQA OL TPELG MOMAPOUVEG 0T TETAPTN dwTtoypadia tng Aovong;

(A) 9 (B) 10 (C) 11 (D) 12 (E) 23
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Stefani folds a paper square in half and then in half again, as shown. Next, she cats pieces out of the folder
paper. After unfolding she sees a paper snowflake. How did she cut the folded piece of paper?

H Ztédavn SuTAwVEL £va TETPAYWVO XOPTL OTN LEON KAl ETTELTA TTAAL OTN HEDN, OTWC paiveTal. ITn CUVEXELQ,
KOBEL KoppaTia arnod to SumAwpévo xaptl. Metd tnv Eedimlwan tou, BAEMEL €éva xapti og oo Xoviou. MNwg

£€koe To SuTAwHEVo Xapti;

Yy P PN T

o e () [ |

(A) A&

Maria has built a pyramid using black and grey cubes. She arranges each cube so each
face does not touch a face of another cube with the same colour. One of the black
cubes is shown in the figure. What will Maria’s pyramid look like from above?

H Mapia €xel xtioet pa mupapida xpnoonolwvrag paupoug kot Ykpiloug kUBouc.
TomoBetel kABe KUPO £T0L WOTE KAPlA TAEUPA TOU VA [NV OKOUUTIAEL OE TIAEUPA
aAAou kUBou Tou iSlou xpwpatog. Evag amd toug pavpoug kKUPoug daivetal otnv
gwkova. Nwg Ba dpaivetal n mupapiba tng Mapiag and navw;

(A) (B)

(C) (D)

(B) L~ (C) L (D) (B) L
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20.

21.

22.

The picture shows the page for one month of a calenda, without any of the dates. The total of the dates for
the 2 shaded days is 29. On what day of the week does the first day of the month fall?

H ewova Selyvel Tn oeAida yla £vav priva amod éva nUePoAOyLo, XwPis va avadEpovtal ol NepPounvies. To
AOpOoLoUO TWV NUEPOUNVLWYV VLA TLG 2 OKLAOMEVEG LEPEG €lval 29. Ze Tola pépa TNG eBdopddag médTtel n
TPWTN KEPOL TOU UNVQ;

Mon| Tue |Wed| Thu | Fri | Sat | Sun
Agut| Tp | Tet [Mep | Nap| 2ap | Kup (A) Monday / Aeutépa
(B) Tuesday / Tpitn

(C) Wednesday / Tetdptn
(D) Thursday / Néurmtn
(E) Sunday / Kuplakn

The construction uses 11 identical bricks. The construction has length 100 cm and width 60 cm. What is the
size of each brick?

H kataokeun anoteAsital anod 11 navopolotuna tolBAa. H kataokeun €xel pikog 100 ek. Kal MAGToG 60 &K.
Moo eival to péyebog kABe TouPAOU;

Bl cm
60 ek.

100 em
100 k.

(A) Length: 8 cm and Width: 40 cm / MAdtog: 8 ek. kot MAkog: 40 k.
(B) Length: 10 cm and Width: 40 cm / MAdtoc: 10 ek. kot Mrkog: 40 k.
(C) Length: 12 cm and Width: 40 cm / MAdtoc: 12 ek. kot MAkog: 40 ek.
(D) Length: 8 cm and Width: 44 cm / MAdtoc: 8 k. Kat Mnkog 44 k.
(E) Length: 10 cm and Width: 50 cm / NMAdtog: 10 ek. kot M kog: 50 k.

Identical balls have been placed in 5 identical test tubes, as shown. Then, water is added to each of these
test tubes. The water levels in test tubes 1, 2 and 3 are the same. The water levels in test tubes 4 and 5 are
also the same and twice as high as in the first 3 test tubes. Then, all the balls are removed.

Which test tube has the least water?

MavopOLOTUTIEG UTTAAEC £XOUV TOTIOOETNOEL 0€ 5 MavoUOoLOTUTTOUG SOKLUAOTLKOUE CWANRVEC, Otwe daivetal.
3TN ouvéxela, TpooTiBetal vepo o Kabévav amd autoug Toug SOKLUAOTIKOUC owAnvee. Ta enineda tou
vepoU oTtoug owAnveg 1, 2 kat 3 elval Ta iSla. Ta emineda Tou vepol oToug cWANVES 4 Kal 5 elval emiong ta
dla kal Suthdola amd ekeiva TWV MPWTWV 3 SOKLUAOTIKWY CWARVWY. XTn ouVEXELa, adatpolvtal OAEC oL
UTAAEG. MoL0oG SOKLUAOTIKOG CWANVOC £XEL TO ALYOTEPO VEPO;

C O OO

k) | - 233
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23. Rosa has written down the number of pieces of different fruit that
she has. Unfortunately, some digits have been covered by paint.

In total, she has 106 pieces of fruit. The number of pieces of two Mangoes | / Mdyko

of the types of fruit she has are equal. She has twice as many of apples / MiAa

one type of fruit as she does of some other type. She has more pears / AxAadLa
than 10 pieces of each type of fruit. How many bananas does she bananas | / Mnavdveg

have? oranges \ /MoptokdAla
H Pola €xel ypaeL tov aplBud Sladopetikwv ppouTwy mou EXEL
Avotuywg, kamota Pnoia éxouv KaAudOel pe xpwua. ZUVOALKA,
€xel 106 ppouta. O aplBuog Twv o TUMWV PpolTwV OV £XEL
elval iooc. Exel U0 Ppopég meploodTepa amo £vav TUTo ppolTou
oo 0,TL amnod evav al\o tumno. Exel meplocdtepa amo 10 KOPUATLO

arnd kaBe tuno ppoutou. NOCEG UMAVAVEG EXEL

(A) 13 (B) 23 (C) 43 (D) 53 €63

24. A pair of scales is used to weigh 3 different objects and the results are shown below. Each type of object has
a different mass. The masses can be 1, 2, 3, 4 or 5 kg. What is the mass of one . in kilograms?
Xpnotpomotouvtal dUo Juyaplég ywo va Juylotolv 3 SLadOopeTIKA QVTIKE(PHEVA Kal Ta OMOTEAECUATA
daivovtal mapakdtw. Kabe tOToC avtikelévou exel dtadopetikn pala. OL paleg umopei va eivat 1, 2, 3, 4
i 5 KAG. Mowa eivon n paga evog [l oe KAG;

(A)1 (B) 2 (€3 (D)4 (E)5



